20163t

ML HO{(A7]) ThE| A

1 =X
7l dojsd 452 7|2lE 41 Moo AW St dFd S
L ofof CHEH BAS BOHAIZOZM SS9 dojs 3o
Ch SHMEC] MY|5E A U 2 T4 U ALY B
H | e
2. & Ald A=
7t CHE| Y Al: 2016 9€ 23(F) 7uA|
Lt A7ICHA: 1,2,38Hd 3R}
Ch A& M2E2st2i(Ee HEIts)
= =
3. A8 &= A 7'
. b o s2
=2 MKyl =2|7F Latg|=7}? | 15 | 15 | 10 5
3712| paragraph #4? 5 5 3 1 2706A), 1701A)
—_ Introductiond| F=HE J=74? | 5 5 1 yes 58, no 18
228 | 40 [Body parapgrph0f 2~372 14(6), o™
S s ol yo|p|_ I'pg phof| fiel 10 10 6 2 H( :ﬁ)}:é_llm—n_
Concl M P h
f_T,n_C l(ﬁlfg??l 1 Paraphrasing 5 5 1 yes 58, no 13
EAMO| =22 "X|=op? 15 | 15 | 10 5
=89 | 30
=8H o HMAISH=71? 15 | 15 | 10 | 5
IndentationS ot U=7)? 5 5 1 yes 58, no 18
= ~371(10%)
Ho| M3tMe (=]
EH H—=l o= o ~107 S| IH~
01%/01 20 | {3722 T ) 10 | 10 | 6 | 2 |4~10 H((26x§.)),11 i
013 8l HAo| &2
01E'E1.o;f§+? B 5 5 3 1
. LEolx] 27%
_ —~ Li(6X
40| 10 | 10| X| O|LHQIZ}?(27~32%) 10 | 10 6 ﬂl 2E1|O|X|OH|&(6:,FA|)17§,|/1
=43
A 100 100
4. A ALY (8 )
= 13 (Z2EH 30,0002/ 47%)
S A 2% (ESEH 2000024
S A 4% (FSAEH 150002/4)
8 & 53 (Z2bEH 10,0002/ &7%)




